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dxVy : (y for ) A (z for y)

VvD. : D. goes to H.

Ve :zis F.in L. and W.

Vz : x ought to have a M.

VC.: C. hasaS. L.

VT.: (you M. at T. = G. K. a K.)
VK. : (I get K. from C.)

. =3z =(x likes S. L.)

—dz : z knows the T. I've S.
—dM. : M. is an L.
dz : x is R. in the S. of D.

.dx:zxisaF. L.

. —3J.:J.e M. (M. C. has S. O.!)

. 3dx 2 is like a D.

. VM.3S.: S. is B. at M.

. VzdT.3P.: T. and P. are for z

. =3B.: B. is like S. B.

. —3P. : P. is like H.

. (3P.VT. : you can F. P. at T.) A (IT.VP. : you can F. P. at T.) A (-VT.VP. :

you can F. P. at T.)

YV : (you W. 2 = you can G. z at A.’s R.)
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